Geo. Simplifving Radicals Name

~~Some things to remember about Square Roots;
~ ris a gsquare root of a number ‘s’ ifr’=s

~ a positive number has 2 square roots:

ex/4*=168 (-4=16 SO... the 2 square roots of 16 are V 16 -4 and -4

VOCABULARY:
radical = o =~ radical sign = v radicand = the number under the radical sign

Properties of Square Roots

Product Property ~

Quotient Property Vo

" Jse the properties to simplify square roots!

keep asking...”’does the number under the radical sign have ANY perfect square factors?”
ecl 8q

A square root is simplified if....

1. No radicand has a perfect-square factor other than 1
perfect-squares are numbers with whole number square roots. . list them

(L1, 2, 16,325 36, 49, 64, &1, 10, 21, 19Y, (b9,...

2, There is no radical in th_e denominator

Simplify the radical. Leave your answers in SIMPLEST RADICAL form (no decimals!!!)
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Rationalizing the Denominator

Form of the Denominator Muitiply numerator and denominator by: J
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Trigonometry Prerequisite: Special Right Triangles
Speainl Right Triangles: 36° - GG° - 96°
Hypotenuse =2 * Short Leg ~ (DLakel sidts s, %3, s
Long Leg = Short Leg * /3 @wdkj ﬂ‘{n'#%ﬂﬁm— - LOE?/%QQ'
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Find the value of x and y in each triangle.
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Sketch the figure that is described. Then, find the requested measure. -
10. An equilateral triangle has a side length of 10 inches. Find the length of the triangles alfitude.

Tatoral triangle is 18 inches. Find the length of a side. '
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Tfigonometry' Prerequisite: Special Right Tr‘iangles

) Spe@iaﬁ Right Trianglies: 45° -

Hypotenuse = Leg * V2

45° -

@ Solvt for 73"
@ Subshheie iy for 5"

Find the value of x in each triangle.
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\ j Sketch the ﬂgure that is descnbed Fmd the requested measure.
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7. The perimeter of a square 13 48 metes. Find the !ength of a diagonal.
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Find the value of x and y in each figure.
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.'Geometry : 8 2 Specml 'nght Trlangles___ s e “Name __ 4

( ‘)]ectlve To use the properties of 450-450-90° and 300 60°- 900 trlangles

Some right triangles have propertles that allow us to use shortcuts to fmd side
lengths instead of using the Pythagorean Theorem!

450-450- 900 Trlangle Theorem

In' a 45"«45‘3 90" uiangle, both 1egs are congruent ami the
length of the hypotenuse is \/3 times the Iength of aleg.

hypotenuse = V2 - leg

1. What is the value of eaéh Vériable?

30°-60°-90° Triangle Theorem

In a 30°-60°-90° triangle, the length of the hypotenuse is
twice the length of the shorter leg, The length of the longer .
legis V/3 times the length of the shorter leg.

hypotenuse = 2 + shorter leg

longer leg = V/3 - shorter leg
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3. Whatis the l_eng_th of thp__h_ypotenuse of a 459-45¢-900 triangle with leg lengths 537
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4, The length of the hypotenuse of a 450 450.-909 tnang]e is 10 What is the length of one leg?
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5. Ahigh school softbal! diamond is a square. The distance from base to base is 60ft. To the nearest
foot, how far does a catcher throw the ball from home plate to second base?

6. You plan to build a path along one diagonal of a 100ft by 100ft square garden. To the nearest foot,
-how long will the path be?
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7. What is the height of an equilateral triangle with sides that are 12cm long? Round to the nearest
tenth.

HW pgs. 503-505 # 1-29 odd (geo 21 also do #30 & 34)




